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1. What are the 2 advantages that big hotels enjoy when they divide according to functions? (2 Points)
The 2 advantages that big hotels enjoy when they divide according to functions are as follows:

· Enhance control over its operations

· Customize guest services

2. What are the advantages hotels have when attracting repeat business? (2 Points)

The advantages hotels have when attracting repeat business are as follows:

· Good word of mouth
· Free of charge advertisement
· Loyal customers
· Easy to convince customers when negotiating room types / prices...
· A valuable source that helps to solve some of hotel’s problems (ex. Overbooking)
3. What are the advantages of hotels operating under fully-automated systems as far as departure stage is concerned? (3 Points)

The advantages of hotels operating under fully-automated systems as far as departure stage is concerned are as follows:

· Automatically produce bills
· Automatically settle guest accounts

· Automatic transfer of room status information to the Housekeeping department
· Automatic generation of guest history files
4. Simao Hotel agrees to allot DinamoK Travel 10 Single, 20 Double & 04 Triple rooms for the period running from 20/03/2011 (Sunday) till 27/04/2011 (Wednesday) for each Tuesday & Thursday arrivals for 2 nights. According to the allotment contract signed between both parties, DinamoK Travel has to send its final list latest 4 days before actual arrival of any group.
a) When is the first group estimated to arrive to Simao Hotel? (1 Point)

The first group is estimated to arrive to Simao Hotel on Tuesday 22/03/2011.
b) When is the cut-off date of the first group? (1 Point)

The cut-off date of the first group is on Friday 18/03/2011.

c) Suppose, by the cut-off date of the first group, DinamoK Travel communicated a Final List showing a need of 06 Single, 16 Double & 1 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Initial allotment = 10 + 20 + 4 = 34 rooms.

· Number of rooms conveyed in final list = 6 + 16 + 1 = 23 rooms.

· Washed out rooms = 34 – 23 = 11 rooms.

· Wash out factor percentage = ((34 – 23) / 34) * 100 = (11 / 34) * 100 = 32.35 %.

5. Why do registration clerks ask for the reservation status when a guest approaches the front desk? (2 Points)
Registration clerks ask for the reservation status when a guest approaches the front desk to determine the reservation status and, hence, differentiate between potential guests (i.e. guests with reservation) and walk-ins.

6. What is the difference between “Did Not Check Out” and “Due Out” room? (2 Points)

While “Did Not Check Out” refer to a room occupied by a guest who made arrangements to settle his or her account (and thus is not a skipper), but left without informing the front office, “Due Out” room refers to a room that is expected to become vacant after the following day’s checkout time.
7. What is the difference between “Twin” and “Double-double” room? (2 Points)

While “Twin” room refers to a room with two twin beds (may be occupied by one or more people), a “Double-double” room refers to a room with two double (or perhaps queen) beds (may be occupied by one or more persons).
8. What is a “Charge Purchase” transaction? What is the effect of a “Charge Purchase” transaction on the net Outstanding Balance of a folio? What is the supporting document needed to accompany a “Charge Purchase” transaction? (3 Points)

“Charge Purchase” is a guest transaction where a guest, with guest charge privilege, consumes something from any point of sale and postpones payment later (usually at departure). Moreover, “Charge Purchase” transactions increase the net outstanding balance of a folio. Lastly, a charge voucher is needed as a supporting document to accompany a “Charge Purchase” transaction.

9. At Almeida Hotel, Hugo has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 625.48
- Food Charges


$ 105.92
- Beverage Charges


$ 86.33
- Telephone Charges


$ 75.41
- Extra Charges


$ 15.85
- Payment (During Stay)

$ 135.36
- Guaranteed Reservation Payment 
$ 149.75
Suppose that Hugo decided to settle his guest folio, 40 % by cash, and the remaining by Credit Card.

a) What is Hugo’s Net Outstanding Balance? (2 Points)

· Net Outstanding Balance = (625.48 + 105.92 + 86.33 + 75.41 + 15.85) – (135.36 + 149.75) = 908.99 – 285.11 = $ 623.88.
b) Journalize the zeroing of the guest folio. (3 Points)

      Dr.


      Cr.

-------------------------------------------------------------------------------------------------------------

Cash





$ 249.552


Credit Card Payment Account

$ 374.328






Guest Account



$ 623.88

-------------------------------------------------------------------------------------------------------------

c) What are the supporting documents needed as to close properly Hugo’s guest folio? (2 Points)

· Cash Voucher with an amount of $ 249.552.

· Credit Card Voucher with an amount of $ 374.328.

· An invoice with an amount of $ 623.88.

10. Dağ Holiday Village consists of 172 rooms. Mr. Ekrem has been newly hired for the position of an Assistant Reservation Manager. He is supposed to calculate how many rooms Dağ Holiday Village needed to overbook for the night of April 11th 2011. 

Mr. Ekrem was given the following information at hand, both updated and concerning the night of April 11th, 2011: 
· Number of rooms reserved: 


85 rooms

· Number of rooms occupied by stayovers:
55 rooms

· Forecasted No-show Percentage:

2 %

· Forecasted Understay Percentage:
 
3 %

· Forecasted Overstay Percentage:
 
2.25 %

· Forecasted Cancellation Percentage: 

4 %

· Expected Out Of Order Rooms:

3 rooms
Suppose you are the Rooms Division Manager in Dağ Holiday Village. Since Mr. Ekrem is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Ekrem to come up with?
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (3 Points)

· Total number of rooms expected to be occupied for the night of April 11th, 2011 = 85 + 55 = 140 Rooms
· Adjustment due to no-shows  = - 2 % * 85 = - 1.70 Rooms
· Adjustment due to understays  = - 3 % * 55 = - 1.65 Rooms
· Adjustment due to overstays  = 2.25 % * 55 = + 1.2375 Rooms
· Adjustment due to cancellation  = - 4 % * 85 = - 3.40 Rooms
· Total adjustment = - 1.70 – 1.65 + 1.2375 – 3.40 = - 5.5125 Rooms
· Total number of rooms expected to be occupied for the night of April 11th, 2011 (after adjustment) = 140 – 5.5125 = 134.4875 Rooms
· Total number of rooms available for sale for the night of April 11th, 2011 = 172 - 3 = 169 Rooms
· Maximum number of rooms to be additionally reserved for the night of April 11th, 2011 = 169 – 134.4875 = 34.5125 Rooms
· Total number of rooms expected to be reserved and occupied for the night of April 11th, 2011 = 140 + 34.5125 = 174.5125 Rooms ≈ 174.51 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 140 + 34.5125 – 169 = 5.5125 Rooms ≈ 5.51 Rooms.

c) The overbooking factor? (2 Points)

· Forecasted Occupancy Percentage = 174.5125 / (172 – 3) * 100 = 103.26 %
· Overbooking Factor = 103.26 % - 100 % = 3.26 %.

N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.
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